PART
NAME

PLASTIBOX

(STYLE B

PART
No.

PS-11290

MATERTAL: HIGH-IMPACT ABS

COLOR: BLACK OR GRAY

FINISH: TEXTURED BODY WITH
SMOOTH TOP INSERT

TWO @) #4 x 0.230" LG SCREWS AND
TWO @) #4 x 0375" LG, SCREWS

L ee——t7]

| Zsus /\

$

__._-‘—_-——:f:’—‘q’ﬁﬂ\\

0.184 —f

AN |

0.900

o424

SUPPLIED FOR ASSEMBLING TOP. 0260 DIA. BOSS WITH 0093 mA.A L 0100
FOUR ¢4) NON-SKID STICK-ON FEET SUPPLIED. HOLE x 0136 DEEP (4> PLACES
%_USABLE AREA ON COVER ALST MOUNTING BOSSES USE EITHER M25 METRIC
AVAILABLE FOR CUSTOM MOLDING. OR #4 STD. SHEET METAL SCREWS
x 0188" LG (NOT SUPPLIED)
OTE: ALL DIMENSIONS HAVE 10,015 TOLERANCE 5625
UNLESS OTHERWISE SPECIFIED. » 425 5 405 0387
2125
0.125 ‘
|
—) FEE%\EEEEE'EEEEE?ﬂ 0375
E—r T 0.
0.020
RECESS H| |H 1.afo
2730 3049 —fh— — -+ B _f 3250
I [
—={ |=—20.100 | |
TP, | \ ! “15“
== I N EN _@jll_
\_ . \_ AREA FIR
S° TYP. CUSTOM
MOLDING.
Tl PLASTIBOX (STYLE B PRt PS-11292
MATERTAL: HIGH-IMPACT ABS X 5-148/'\
COLOR: BLACK OR GRAY oy I——re
FINISH: TEXTURED BODY WITH \ 30 = — —1m t
SMOOTH TOP INSERT - iy * 1,500
TWD (@) #4 x 0250" LG, SCREWS AND 07 [ ] L '
TWO (@) #4 x 0375" LG, SCREVS || M S o o T l
SUPPLIED FOR ASSEMBLING TOP. = = '
FOUR ¢4) NON-SKID PUSH-ON FEET SUPPLIED 0410 _f 0390 f
%-USABLE AREA ON COVER ALSO 5319
AVAILABLE FOR CUSTOM MOLDING. 5625
OTE: ALL DIMENSIONS HAVE $0.015 TOLERANCE 2.425 2.425 0.387
UNLESS OTHERWISE SPECIFIED. 2200 » 200
—=] 0750 |~—
0.750 *
f;: EEp—————mr——m—————m = 0375
—= ] fol™ o T =N F@‘i" ?
0.060 —"J—» -~
0020 —= REF. | |" 1250
RECESS I I *
* 2730 2.944 HI — +H — ||| — 3250
—={ |~=— 0100 I I f
TYP, ||| |" 1250
B II'L@ " \ ol
§ . 0260 DIA BOSS WITH 0093 DA —/ 0125 \_ AREA FIR
S5° TYP. HOLE x 0,310 DEEP (4) PLACES - cUsToM
MOUNTING BOSSES USE EITHER M25 METRIC —~—1375 === L375— MILDING
OR #4 STD. SHEET METAL SCREWS 2125 '

x 0.230" LG.

(NOT SUPPLIED)




